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Bh Sim 81 0, 250 maximum (I =12mA; R, = 0,16 MQ) 3

TS 11 PR 2 14 | 025 430 | 45 17 12 A1 55 [

JAM10A[STCE| 2 |4 | 025 (130 | —45 65 22 | 12 55 |

3IAM10B | STCE| 3 |4 | 025 190 | —é 16,2 maximum 0,16

3528 STCS| 1 | 4 1 i \ ! ‘

w608 ol | 4 la 1} 130 | —5 112 25 | 7 485|

4609 PRl | 2 | 42| 025| 130 | —s5 8 23 | 11 | 48 |6 |

') vide *4
E quivalents

P 422 TuM = 3A/110A | S4022-B STCS = 3A/1108B ‘ 4C2 TKD = 4609
R 101 Dar = 4609 TS 28 PhI = Bh 4022 AR STCE = 3 A/110A
S 4022-AR  STCS = 3A/110A | TS31 PhI = Be 4022 B STCE = 3A/110B
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